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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

If we use 60 watt bulb daily for 4 hours how much energy it will consume in
50 days?

Write the unit of resistance and also state the factors affecting the resistance.
Give the definition of co-efficient of coupling in view of magnetic circuit.
A coil has 0.2 H inductance and if the current flowing through the coil
changes from 10A to 50A in 0.2 second then finds out how much emf will
induce in the coil?

Write the various form of equation to represent sinusoidal A.C. voltage.
State the name & rating of the motor used in ceiling fan.

Give full name of (i) MCB (ii) ELCB (iii) RCCB (iv) HRC

Give any two definition of power factor for A.C. circuit.

Whether transformer can be fed from d.c. supply or not? Give reason.
Explain Fleming’s right hand rule.

Give comparison between electric and magnetic circuit.

OR
Give definition of (i) Conductor (ii) Insulator (iii) Semiconductor.
Explain Permeability, Absolute permeability and Relative permeability.

OR
Explain the difference between E.M.F and potential difference.
Explain the importance of the hysteresis loop. Also draw hysteresis loop for
(i) Hard steel (ii) Cast steel (iii) Alloyed sheet steel.

OR
State Faraday’s laws of electromagnetic induction. Also explain statically and
dynamically induced E.M.F.
A conductor having length of 50 c.m. moving in a magnetic field of 0.8 tesla
at a rate of 50m/second at right angle to a magnetic field. Calculate the E.M.F
induced in the conductor.

OR
Define the term (i) Cycle (ii) Frequency (iii) Amplitude (iv) Time period.

Define R.M.S value. Derive the equation for R.M.S value for alternating
current waveform.

OR
An alternating E.M.F is given by an equation, & = 4@ zlu Zmadt. Find out
(i) Maximum value of E.M.F (ii) Frequency (iii) Time period (iv) Angular
frequency.
Explain how alternating E.M.F is generated? Also derive the equation of
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induced E.M.F.
OR
Write the advantages of three phase system over single phase system.
Explain phase and phase difference. Draw waveform for ¢ = Z00 gin wt and
+ = 50 sin(wt <+ 30). And determine leading and lagging quantity from it.
OR
Explain when pure resistor is connected to A.C. supply current will remain in
phase with applied voltage.
Draw three phase star connection diagram for resistive load and write the
equation for voltage, current and power for three phase star connection.
OR
Draw power triangle and explain active power, reactive power and apparent
power.

Prove mathematically power consumed by pure inductor is zero.
OR
List the domestic protective devices and explain the working of rewirable
fuse.
Explain difference between core type and shell type single phase transformer.
R

Explain hysteresis loss and eddy current loss occurs in the transformer.
Explain RLC series circuit with neat circuit diagram. Also draw vector
diagram for (i) X.< Xc (ii) X.> Xc for given RLC series circuit.

Explain in brief the working of capacitor start capacitor run induction motor.
Explain in brief the working of shaded pole type single phase motor.

Derive E.M.F equation of a transformer.

Draw the arrangement of plate earthing with all necessary dimensions.
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